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Chapter 2--Computing Wages and Salaries Key

Under he FLSA enterprise coverage test, hospitals and iursing home are only covered if their
annual charges for services are at least $500,00.

EALSE

Institutiors of higher education are extended coverage under FLSA without regird to their annual
sales volume.

TRUE

Ifa business does not meet the erterprise coverage test, note 0fits workers qualify for individual
employee coverage.

FALSE

Domestics are excluded from coveraye inder the FLSA individual employee coverage.
FALSE

Under the FLSA, severance pay is excluded from the definition of wages.

FALSE

The term wage refers to remuneration paid 0 1y on an hourly basis.

FALSE

Employees paid biweekly receive their remuneration every two weels.

1REE

In May 2013, workers who receive the minimum hourly wage are paid $6.10 an hour
FALSE

Aretail shop may employ a full-time studert at S5.00 jer hour.

FALSE

A college may employ its omn full-time studerts a & percent of the mininum wage

TRUE
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Allnajor cities have enacted ordinances estil ishing a so-called "living wage" at $8.25 per hour.
FASE
The FLSA defines atipped employee as one who regularly receves tips of iore than $20 a month.

FALSE

An tmployer can redit up to $5.12 i"a tipped employee's mininum wageas coming fiom the tips
received by that enployee.

TRUE

Tie FLSA requires that workers receive overtime pay for all hours worked in exess of40ina
workweek

The FLSA require that worers receive ovetime pay of twice the enployees™ reqular fourly rte for
hours woked on Sinday.

FALSE

Employees who ae receiving remedli I education naywork upto 10 hours overtime each week
without receiving overtime iy

IRLE

Public safity employees of a state can he granted compenstory time off in lieu of overtine
conpensatian.

IRLE
No enployer can grant compesatory tine oFto employees inplace 0" overtime y.

FASE

Exempt professional enployees ae exenpt fiomall provisions ofthe FLSA--minium wages,
ovetime pay, ad equl pay.

FALSE

Employees paid by th hour without a guarantee s wegtly 1 ninum glary do not gialify for the
shary test fr white-collar workers.

TRUE
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One of the ksts to be met for the white-collar exenption for anexecutive isto be paid a salary of at
least $455 per week .

IRLE

Th Equal Pay Act stipulites tht there cannot be ny wage differentials between the sexes.
FALSE
Under no coditims naxy childen under age 16 be employed in fiod sevice establshments.

FALSE

The FLSA sets no limits uponthe tumber of hours that a I5-year-old person may work so long as the
overtime pay provisins ae met.

FASE

The FLSA requires that enployees be given th day off on all Monday folidays or be paid time and
one-falf for lose Mondays.

EA.SE

When enployees spend time chnging clothes on the employer's pemises, tiis time must be counted
as pat of their principal activities for which they realways fill ly compaisated.

FASE

Providd employees can use the on-call time for their own purposes, this tine is 1ot compensil e.
TRUE

The FLSA requires that mployees be givenat least two 15-mirute rest eriodseach workday.

FALSE

Bona fide meal periods when the employee is completely relieved from duty re not considerd
working time.

"Engaged to wat™ and "waiting to be enaged are bothconsidered work time.

EALSE

The courts have ruled tha prelini nay and postliminay activities, even ifindispensable to the nain
activties ofan eiployee, do not constitute work time.

FALSE



32.

3.

34,

3.

36.

3.

38.

39.

40.

Employes nay adopt the practice ofrecording an employe&s sarting and sopping tire to the
nearestquarter of anhour.

IRLE

The FLSA cottai s detai led specificatins ofthe methods tiet employers nust ol low in keeping
tine records.

Under the continental sytemofrecording time, 9.00 a.m. is recorded & 900 whie 9.00p.1m. is
recorded as 2100.

IRLE

In canverting serinonthly wage rates to lourly rtes, divide the seminonthly rate by 4 to arive at
ie weekly rate, then divide this rate by the standard number offurs,

FALSE

Under the piece-rate system, workers are pid according to theiir oupuc

Althowgh com issions are considered payments fir- ours warked, they re exclded when
dtemining the regular hourly rate.

To clculate the overtime pay rte for a conmisioned worker, dividle the toal commission by the
hoursworked, and then take one-halfofthe eulting rte of pay.

IRIE

Discretionary boruses are pnt ofthe dtemiration of the regular rate ofpay.

IRLE

Paments made to abona fide pofit-sharing plan tat 1eets tie standads set by the secretary of
kbor*s requlations are not deemd wages indetermiing the rejular rate ofpay.

TRUE
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Under enterprise coverage, 11 employees of aisiness are covered by the FLSA if the organization
is

A anusig hme.
B. apublic agency.
C ahspitl.

D all oftfe abcﬁve.
E. none ofthe {OVE.,

Under indiviclial employee coverage, te woler is covered by the FLSA if:

A. th worker produces gads for interstte commerce.
B. the wolker is a housekeeper ina private hom.
the dom'stic receives cash wages of at least S10100 fiom the employer in the calendar year .
D. all of e dbove.
E. none ofthe OVE.

Under the FLSA, regular rate ofpay does mt include:

A vacation pay.

B. severance ay.

C ovetiie pay.

D eamed bonuses.

E. All ofthe l0VE are considered wages.

In August 2012, the minimum hourly wage was:

A $3.35
B. $7.15.
C. $5.85.
D $5.15.
E. None of the above.

The tips received by a tipped enployee are less tan $5.12 ofthe minimum - hourly tip credit rate. The
raxinum pemassible tip credit is:

A. $30 a monh.

B. $5.12 anhour.

C. 45%o0f the employee's nEnimum wage.

D. 50% Othe mpoloyee's nii nimum wage.

E fe aount oftips actually received by the employee.

Under the FLSA, overtine pay is required for.

A any ours worked in excess of 8 in one day.

B. all work on Sunday.

C all hours wotked in excess of 40 in aworkweek
D all hours worked on Christmas.

E all off above.
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Worers exenpt fiom all of the FLSA requiemnts include;

A eployees paid by the hour,

B clek-typists earing less fian $20 a wetk.
C taxiabo drivers.

D motion picture theater employees.

E none ofthe dove.

Under te Equal Pay Act

A mployers mist pay aarried male a hiher wage rate than a single fmale ifboth ae performing
equal wor .

B. wite-collar workers are exenpt flom its requirments,

€, wage differentials based on a senionty systemareallowed.

D. ifthere is an unlawful pay diferential, employes iay reduwe tie higher rate to equal the lower
rate.

E. none ofthe dove.

If an employer is unable to obain a certificate ofage or awork permit fir a ninor employee, fie
mployer may rely upon what document as evidence of age?

A, Baptismrecord

B. Mother's stattment as to dte of birth

C Highschool enal Inent frrm fiowing date of birth
D. Minor enployee's statemett as to date of bith

E. None of e above

Whichof the following is not required by the FLSA?

A Extra pay fir work on hoidays

B. Tiio wegs" vacation pay after one year of service
Restriction on hours worked by a 17-year-old worker

D. All ofthe #ove are equired.

E None ofthe above isrequired.

Those tasks that employees must perform and which include any work of cnsequene performed for
the erployer are known as:

A prelininary ativities.
B postlimiary activities.
C work wtivities.

D prineinl ativities.

E. none ofthe #ove.
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Rest peniods and coffee breaks may be required byl of the fll lowing except.

1 a nion contract

B astate legislation
(a nunicipal legidation.
D. tie LSA

| none of the dOVe.

Training sessions are conted as working time when the following condition s met:

A tie employee's attendance is voluntary.
B tie emiloyer regires the employee's atendance.

( fe training sessiois e for the frimary tenefit ofthe employee.
D the session t&kes place outside the regular working hours.
| the session Is not directly related to tie employee's wor.

Tie Wage and Hour Division allows i€ practice of kcording an emploe¢'s starting and stoping
time to

\ e nexrest five minutes.

B the nearest tenth of an hour.
(e nearest quarter ofan hour,
D. all of tie ahove.

| none offe #ove

The FLSA requ iires that

\ employers use time cards to record the employees' time worked.

B employers use the continental time System to record all time worked by employees.

C, employers keep records tiat show the hours each employee worked each workdlay and each
workweek

D employees dgn each clock urd.

| none ofthe #Ove.

Under the continental systam ofrecordirg tine, 9.20 pm. is recorded as

P210

B 9.20P.

C 2120

D 2220

| none of he 1O ve.
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If'an employeaworks two plos attwo diferent wage rates for the sime enployer during the sane
payieek, any overtine pay must be ciculited by usig an overtime hur Iy rate of:

A one and ong-halfthe higher of the two wage rates.
B. one and one-half the lowest of tie two liage rates.
C one-half ofthe higher ofthe tio wage ates.

D one-half' of the two rtes combined.
T none ofthe dove.

Employers naxy pay nonexempt employees whowork fluctuating schedules a fixed ¢lary. In hiese
cases, the extra pay is:

A calculated at a time ad ne-halfrate.
B calcuited tadonle time rte.
calulited a the regular rate 0f* py.
D umaid

E, none ofthe #0OVe.

To determi ne a piecewrker’ regular hourly rate for e wesk;:

A divide tie toal weekly eaniings fiom piece rates and all oher sources by the fourrs worked in the
we.

B. divide tie toal weekly earnings fiom piece rates by fie nimboer ofpiecesproduced.

C divide the toal wesly eamings fom piece rates, less eamings flomother soures, by the ours
woked ina week

D add the tot I weekly earnings fiom piece rates and all other sources ad divide by fie totl number
of pieces poduced.

E - do none 0" the ahove.

A stted pecentage of revenue iid an inployee who transicts a piece of busness or performs a
service is called:

A apece rte.

B, a commission.

C regqular houly rite.
D aremunerdive salay.

£ none 0f" the dove.
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Instruction 2-1
In the followitg priBers, unless instructed otherwise, impute lourly rate and overtine rates as
folows:

|, Camy the hourly rate and the overtime rate to, } decimal places and then round oflto 2 decaxl places (round the hourly rte
|02 decimall places befire multiply:g by one and ong-half to deiermie the overtime rate)

2 |fthethud decimal plee is 5 or more, round to the next highar cent

J Ifthe third decimal plee is less than 5, diop the durd decinal place

Also, se the janisum hourly wage 0f$725 in soling these problens aid all et fl low.
Refer to Intruction 2-1. Abel works a 37)/, hour week at $7.75 an hour. Overtime hours are wid at
L} times the replar fte

a)  Abel's iegular weekly eamigs or €=

b)  Abelsovertiie fate

0) Abel worls 6h0urs overtime-trTg one weel Abel's weelly gross @mnings
are

97),5 - 96l
5) _

)($17$15 -$ 1163

¢)[$29063 (6 '$I1 63)] - $36041

Instruction2-1

In<the following prt I ems, unless instructed othervwse compute fourly rate and overtine rafes as
follqws et ] g

I Crry the hourly rite and the overtime rate to } decimal places and then round otl'to 2 deamal plaes (round the hourly rte
10 2 decimal places before multiplying by one and one-half to détermine the overtime rate)

2 e third decimal plee is’ or more, round to the next higher cent

| Ifthe th|rd demmal plee isless than 5, drop the Iurd decimal place -

Also, Use them rinum hourly wage of $725 in solving these prilers and all that i low.
Refer 10 Instrljction 2-1. Jack Kerston wrks a 40-our week vilh over tine ;a'id atl M/ tiles his
replar rate ‘ofpa‘y' 0f $14.98 T s week he worled 42 'hours, which resulted ina 0ross pa}f of

[(40 $14.88)+(2" $14.8815)]=$64. 84
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Instruction 2-1
In tie folowirg roblens, unless instricted otherise, compute lourly rate and overtine rates as
follows:

I Carry the hourly ste and the overtime rte to } decimal placesand then round offto 2 decimal places (round the hourly rte
lo2decimal {laces beire muBtiplying by one and oneshalf to deiermiie the ovetime rte)

2. |fthe third decimal p le S5 ormorg; round to the net higher cent

} Iftethud decimal plce is les tuanss drop the fud dedmal place

Also, use the 1amum hourly wage of §725 in solving these pub lens ad 1 sat fil low

Reer 10 Ingruction 2-1. Car lyn Clark, a fll-tne sudent at Atanta Siate Unierrsty, works at the
Barclay Dress Shop. In order ot ¢ owolate the ISLA t helstsalary tat: Baclay could, pay Cirk

for het 28hour vokvegkis

(28 $6.7)=$11.76

Instruction 2-1
In tie foloving froblens, unless instructed otheriise, conpute lourly rate and overtine fates as
illows:

. Cry, the hourly rate and the overtime rate to } decimal plues and then round oll*to 2 decal places (round ie hourly rte
lo 2 decimal places before multipljing by ne and one- half o detemie fe overume Ite)

2 Ifetlrddeumalplee.sS or mofe, found to the net higher cent :

i Ifie fiird decimal poe s s than S drop ¢ the thurddecal place

Aiso, se the Lirinum hourly wage 0f$725 in olving these yoblers ad il sat fliow

Refer 1o Insruction 2-1. Bakker is il an hourly rate of$57.65. For 130 ninutes Speit on a trtain
Job, Bakker S pa|d

(6765 130:0)= §16.5



60,

6

Instruction 2-1
;nl II e folloiing prooBers, unless instructed otherwise, tnpute fourly rate and overtiie ites as
S

1 Cry the hourly rée and the overtime mag lo } decimal places and then round ol to 2 dectal phsees (taun! the hourly e
lo2decimal places bere mitiplyag by one and ong:half to deterine the overtlme fate)

2 Ifithe third decimal plce is = or moré, round lo the net higher cent

3 Ifthe third decinal plce | isles! an5, dnp the urd decimal pluce

Also, use the 1iriium hourly wgeof§1.25 i lvng these ublems and all tat il low

Refer.to Instruiction 2-1. Annette, Henri is aid an fourly wage of 90 for a 32our worBwieek of4
days 8 hours.daily. For any work on the fifth day and on Saturays, sie s eic ong and ore-nal f
times her regular our Iy rite. Duing a cirtain week, in addiion fo her rey Iar 32 s, Heni

wirked 6 hours on the fith day and . hours on Siurday Forlhlsworkwek HennSto al eamings
are

[(32°$890)+ (11 $49015)]=$43166

Instruction 2-1
;nl tl e foIIownng prbens, unless instrcted otheryise, wnpute hourly rate and oertine tes as
0.

| Cry the hourly rte and the overtime rate ta } decinall places and then round oll'to 2 decimal. places (found ehurly rte
* lo2decimal plaestefore mltiplyig by one and oné-alfto determing the overtimer ite)

2 Ifte third decimal plee is5 rmor, ound to the net higher cent

¢ Ifie tird decimal phoe is Jess than 8 drop the trud decral place

Aiso, Use the 1iiumbourly wage 0f$725 solving these piblens ad all fat fl low.
Refer to Ingruction 2-1. Jose Cnz eams $5.275 #ch tonthand works 37}, urrs each wesk.. Hs
eiplogr jays imoyertine (for uirs beynd 37)/,) and us the ovetime pem iumapprch

Cruz's ovetite: premium tourly rate Is

$207 12-$2130052=$25-31),-94/0 /,)-$.00
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Instriction 2-1 '
In tie following jroblens, unless instricted otherwise, compute lourly rate and overtire rates as
fllors

1. Carry the hourly nale and the overtime rte to } decimal plaesand then round offto 2 decal plaes (round e hourly ratie
lo 2decimal places befire nul tplyinby one and one:halfto determite the overtiie rte)

2. Ifte tud decimal place s 5 or mors, 10iNd to the net higher cent,

1 Iftieiud decima plce is less fuan s, drop the thurd decimal place

Also, use the minisum fourly wage of §725 in soling thee probleis and all tit ol low.

Refer to Instruction 2-1. Every two weds, Linda Corson is il $650. Corson works a 32-iur ieeb<
For overtine, she eceives exira pay at the regular ourly rate up to 40hous. For any hours beytnd
40, duing the workweek, shie receives tine and me-falf; During ne biwealy ay peiod, sie

worked 17 hours overtine. Only 3 hours of the overtime were beyondl 40 fours in any one week
Corsii*s gross arniigs fir the biweekly: pay jeriod are

$60 ., 64=510.16, [3650+ (144 $10,16)+ (3 '$10.161 5] 4316

Instruction 2-1

In the toIIowmg poblems, unless instricted otherist, compce lourly rate and overtine rates as
fil Iows "

| Carry the hourly rate and the overtime rate to } decimal places and then toundolltoZde&aI plaes (round the hourly rte
102 decimal places before multiplyogy by one and onealfto detrmie e bverfie rate)

2 Iftie tud decimal plkes is § ormore round to the nét higher cent

§ Ifthe furd ecimal plae S less fan 5, drop the thud deaimal lace

Also, e the rinijum hourly wage 0f §725 in solving these jobders ad il jat flllow.
Refer to Instruction 2-I. Cata Malor ey s & weitress who replarly receives $80 each wegk. in tips

and works 40 hours eachweek. The mininum TOSS weekly pay, excludtng ups, 1 at the restaurant
could pay Maloney thhout volating e FLSAS é

[40$5) 8= $10.00
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[nstruction2-1
In the following blets, unless instructed otherwse, coputte kur ly rate and overtine ites as
follows:

1. Cary the hourly rte and the overtime rte to } deaimal places and then round offto 2 decal plaes (round ie hourly rale
02 dedimal places befre muttiplyigy by one and oneshalfto determite the ovetiie rite)

2 lﬂ e liucl degimal ploe S5 or mors, found o the nest higher cent.

1 e fud decimal plce is less fuan rop the thnvdl decimal place

Also, ue the misisum hourly wage of $725 in solving these prabdeis nd all tat il low.

Refer to Instruction 2-L. Elder is id ajonthly &lary of $2250. Overime is paid for hours beyond
0] in each workwes. One week, Elder waks 7 hours overtine. Bder's gross ay for the wek is

(12 $2,250) - 52=$519.23+40=$1298, 1851923+ (7' B2 S 1. 5)]=$655.5

Instrution 2-1
In fie followmg problems Unless instrcted otherise, onpute faur ly rate and owrtime iteS as
illows:

| Cary the hourly fale and the overtime. /e to } decimal places and then round otk*to 2 dedml plaees (round fe heurly nte
1o 2 decimal places bebre muliplying by one and one‘alfio dermine the ovet|me ite)

2 Iftelin ddeumalplesSorrrar e tound o the net higher cent

3 Ifthe md declmal phee s e than 5, drop the thud deciral place

Also, use the tikniuim hourly wage 0f$725 in solvig these prilers and all fat fillow
Refer to Insruction 2-L. Kevin Kurtz is a newly: hired exempt employee who earns an annual salary

0f$67,600. Since e st arted Work on Thursday (f|ve day week ends on Frlday) |s pay.fir he f|rst
week would e _

(%6740 , 52) 25]= $51.10
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Instruction 2-1:
In the following pioblens, unless instricted otheriise, comptte houry raie and overtite rates as
follows:

I Cry the hourly rrte and the overtime rate ta} decimal places and then round offto 2 decimal places (round ie hourly rate
-2 decimal places befre multi Bying by ne and onehalfto determine the overtime rte)
2 I[the tiird decal ple is 5 or more, round lo the next higher cent

3 Ifi€ tiird decimal plce s less thua 5, drop the tund decimal place
Also, use the minimmbhur ly wage of $7.25 in solving these pioblems and allthat fil low.

Refer to Instrurtion 2-L. FA1 is jaidl a biweskly salary of$%37.50. Overtime is piid for hoirrs beyond
40 ineach workweek. One week, fal | works 3 hours overtim. Fal's pay for s biweekly pay perid
1S

($637.50+ 80=$7.97"15=$11.96 3=$35.88 +$637.50) = $673.38

Instruction2-1:
Inthe following problens, unless instructed otherwise, wn poute houry rate and overtine raes as
folows: | |

| Crry the o by rie ad the overtime rate ta} decimal places and then round 0I°to 2 decal places (round e hourly mate
o 2 decimal places befare mi I tplyng by ne zmd one-halfto deiermine the overtime rde)

2 [1the tird decal p!‘ce is 5 or more, round lo the next higher cent

) [fthe third decal pke is S than 5, drop the thurd decimal place

Also, e fie minimumbourly wage of $7.25 insolving these problems aid all thit illlow.

Refer to Instruction2-1. Gtes is paid a sm oty § éary of S0 Overtlme 15 paid for hours
beyondl 40 in each woriweek. One week, Gtes wors 0f, hurs ove tire. Gites” pay o tiis

snimonthly pay peiod is

(24 '$800= $19,200+ 52=$369.3+40=39.23"15=$13.85"6F ,=$93.49+ $00)= $893.49
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Instruction2-1 _
In the following prblens, unless instricted otheriise, compute hourly rate and overtiie rates as
follows:

l. Carry the hourly rate and the overtime rate to } decimal places and then round offto 2 decall places (raund e hourly rate
to 2 decimal places beftre multiplying by one and one-half*to determine the overtime rate) K

2 I!tie third decimal plee is 5 ir more_round to the next higher cent

8 Ifthe third decimal p e is &S than 5 drup the thard decimal place

Also, use the minisum hourly wage of $725 in solving these problens and il tart fillow.

Refer to Instruction 2-1. Stacy forvour is a alaied mployee who works fluduating workweeks. She
is paid $680 per workweek. This Week e worked: 46 hours. FOrVaIr's fotal goss jay ifher
employer uses {fie special falf- rate (based on toil lou rs worked) for. overtime pay s

(8680 , 46= $14.78),=$7.396=$44.34 +$680)= $724/4

Instruction 2- 1
In the followrng e blerrs unless instructed oherwrse compute lrourly [ate and ovettite rates as

lollows

I Carry the hourly rate and the overtime rte to } decimal places and then round offto 2 decaul plates (round the hourlyrate
to 2 decimal’ places before multplymg by one and one-half to determiine the overtrme arte)

2 Ifhe thid decimal place is 5 or more, round to the next higher cent

3 Ifte'third decimal plce is less than 5, drop the t lnd decimal'place

Also Use the minimum hourly Wage 0f$725 in solving these problems and all tat ol low.
Refer to Insiruction 2-1. Casey Klemois: agreement (BELO plan) with fis employer provides for a

pay rate of $16.50 jer hour with a laximum of 50 lour How much Would Klemons be pard for a
week in whrch he Worked 46 | ours7

50851650~ 8625 (1005 $16.50=862 50+ $625)) = $0750
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Instrucion 2-1

Infie fillowing problexs, unless intricted othervise, ampute burly e and overiime ries as
ollows;

. Crry the hourly rale and the overtime ite to } decimal places and then mund offto 2 decal places. (round the hourly rate
lo 2 decimil places befre mltiplying by ne and one-hal f tadéermine the ovetime rite

2 I"te tird deca plce is 5 ormore, roind to the next higher cent

3 I[tetird decral pie is less than 5 drop the tud decimal place

Also, use the 1 nisum hourly wage of§725 insolving theeproblems and all tatt follow.
Refer to Instruction2-1. Hall receives 18V, cuits fir ewry wit prodiced. Hall produes 575 uits in

an 8- workday. Hallsdaily wiges e

(575" $0.185) = $106.38

Instrucion 2-1:
Inthe followirg mobless, unless intricted otherwiie, comiite hourly rate and overime raies as
folows:

. Gamy the hurly rile and the overtime fite to} decimal places and thenmund oto 2decall places (raund fe hourly rte
lo2 decirall places befre miltiplyng by ne and one-hal f lodgermine e ovetiie re)
I'te tird decal pkeeis 5 or more, round to the next higher cent

3 Ifletirddecal plce is less than 5. diop the fudl decimal place

Also, e the 1inimmhourly vage 0f$725 insolving these probems ad dlthatt foll ow.

Refer to Instruction2-1. [des receives 16 #nts for every unit produsd. Ides produces 2.976picces in
a 43hour workwegk. For overtime, Ides is jaid a sum egual to oie-nal Fthe regular hourly pay rae
wltiplied by the nuber ofovertime lours. 1des' totl piecaavork and overtine gamings #e

(2976 1116 = $476.16 43=31107 05=$5.54 3=$16.62+$41i. 16)= $4P.78
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Instruction 2-1
In the following problems, unless instricted otheruise, cmputte lourly rate and overtie ries as
folows:

1 Cry the hourly rate and the overtime rite to } dedmal placesand then round oll'to 2 decimal places (round the hourly rte
t02 decimal places befire multiplying by one and one-halfto dgermine 1€ overtime rate)

2. Ifthe thud decimal plee is 5 or more,_ round lo the next higher @nt

3 Ifthe third decral ple s less than 5, drop the tlurd deciral place

Also, use the mirinum hourly wige of $7.25 insoling these iroblems ad all tat illow.

Refer to Instruction 2-1. Gorman is paid $10.50 per hour for a 35-hour workuweek. Tiirs past week, he
worked an exra 10 fours on a job at a pay rate 0f$13.00 ier hour. Ifhe is only jaid ovettine for
hours over 40 and the employer uses the average rate iethod, fis total earnings for the 45 hours of
work was

(5 $1050)+(10 $1300)=$49750+453$110605=($5535) + $49750] 5$525.15

Instruction2-1
In the following problens, unless instricted otheryise, cmpu'te fourly rate and overtiie e as
folows: ’

[ Carry. the hourly rite and the overtime, I°te to } decimal places and then round ol to 2 decimal piges (round ie hourly, rate
to 2 decimal places befre multplymg by one and onghalfto deermine i@ overtime rate)
2 IEthe third decimal plce is 5 ormarg round to the next higher cent

3 Ifle i r.d decimal plce 5 les than 5, dnp the turd de,civmal llace

Also, use the minisum hourly, wige of §7.25 insolving these rob lems andl all iat illow.
Refer. {o Insiruction 2-L. Kenneth Anderson works two sepaiate:jobs for Mesa Conpany. Duming tie

week, Job A consisted of 38 fours at $20 per iour, dJob Binvolved 15 tours at $14 per hour. I Mesa
uses the average fate hasis or calculatlng overtime, Anderson's ay for it week | 1S

[(38 $20)# (15 B14)= 8970+, 53=$18.3005=$91513=$11895:470] = $,188.95
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Instriction 2-1
In the fillowing prob lems, unless instructed othervise, compute hurly rée and overtine rates as
follows:

1 Carry the hourly tale and the overtime rate to } decimal placesand then round ollto 2 decal pls@s (round the haurly rte
lo 2 decimal places before milip lyng by one and one-half to determine the overtime rte)

2 I the thud decal pke is 5 cr more,_round to the next higher cent

3 Ifthe third decmal plee is less tian 5, drop the furd decimal place

Also, use the mininum hourly wage of $7.25 in solving these grob Eems aid all that fill low.

Refer to Instruction 2-L, Ker receives an annual $25,700 base sdlary for workiig tie terriory in
Arizna. Aquota 0f$900,000 in sales has been set for tat sate. Ken-eceives an 8% comidssion on
all sales in excess of $110,000. This year, tie &les are $965:00. -The toial arings due Keir this
year af?

($65,000 . $0,,000= $650000.08=3$5,200 + $25,10)= §il,40..0

Instruction 2-1
Inthe ollowing pioblems, unless instricted otheryise, compute ourly rate and overtime rates as
hilllows:

I Cry, the hourly réte and the overtime 12 to } decimal places and then round ot'to 2 decimal plaes (round the hourly rie
lo 2 decimal places before muliplying by one and one- Talfto teterming the overtlme rate)

2 Ifthe third deC|maI plee is 5 ormare rund to the next higher cent

3 Ifthe third declmal pee is Iess than & drop the iurd deciral pIace

Also, e the minirum halrly wage 0f$7.25 in solving these b Reis ardl all that il low

Refer to Instruction 2-L. Keli England eams $12.30 pef hour andl fias arned a productlon honus tis
week of $37.10 If Englindl worked 44 s this week, her fossjays

(44 $1230=$54120+ $37-10= $578.30 * 44=$13.140.5=$657" 4=$2628 + $578.30)=
$604 5



